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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / Emsﬁ%
fapr ! fadivar fFafafaa # 4 53 Sise? Ay It §:

1. Distractibility / f&¥cfaaferet
2. Hyperactivity / ffaaforadn
3. Hallucinations / Afdyd

4, Impulsivity / Sefact
Correct Answer :-

« Hallucinations / AfdYH

2) Teachers must constantly deal with changing standards and

teaching profession. /ﬁT&ﬂ'ﬁﬁ ﬁT&l’UTWﬁm mﬁ 'FI'FITIbe 3R
& 1Y SId BT AT

1. Syllabus / UT3-fdaRor
2. Curriculum /U'I_O'Tﬁl'qf
3. Assessment / 3Tha-

4. Exam system / ORY&T JoTedt

Correct Answer :-

« Curriculum / UTSIIT

3) Piaget believed that language develops in a child as a result of: / ot o1 | AT fp

= H U1 o7 faer™, e & uRumHTasy gidan 8:

1. Cognitive development / ITHD EEgR
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2. Egocentric development / I CAEGACEILS
3. Behavioural development / AdgRIHD i-acbli-l

4, Environmental development /WW@W

Correct Answer :-

« Cognitive development/ﬂ'ﬂmﬁm

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

Y 9ga AT 81 98 T SMTYURT YRaHTeTH Ade! 8 Afer a8 Rien & Taiue e 3w
T8t urell 81 A & fere i <t Rreor faftr aftre arvvg grfe

1. Excursions /YHUT T 3{@?{

2. Brainstorming methods /ﬁama?zrﬁ@r

3. Grade acceleration /‘j‘s"q’@

4. Individualized instrucﬁons/WﬁT&m

Correct Answer :-

« Excursions /HﬁUTqT&I'ITﬁ'c{

5) The occurrence of is an indication of stagnation in the learning process. /

Y T, SRATT 3 wlthar § fRURGT &1 T SHa 21
1. Motivation / SITHORTT

2. Plateau / fRRI® (@ieh)

3. Progression / WFIfdl

4, Curve / 9 (Fd)

Correct Answer :-

. Plateau / RRi® (@ﬂ)

6) What is the main objective of teaching in inclusive classrooms? / AR Femaf ﬁqa'ﬁ
BT BT I£9 T 87

1. Preparing students for job/ ElEIEAKGICRIED fam TIR HAT

2. Preparing students to pass the examination / B! DI URIET U B3 o forg TR AT
3. Developing thinking power of students / B 1 i Afad BT fasr &

4. Providing notes to students / BT &1 AICH UG DAl
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Correct Answer :-

« Developing thinking power of students / S 1 i Afad &1 faer &=

7) Development does not include changes that happen due to: / fawra ¥ 9 uivad= aftifea EH]
gId ot 9 & FRUTgId &

1. Tllness / SHRY
2. Learning / 3T&TH
3. Maturation / GRT&HaT

4. Aging / geldl

Correct Answer :-

o Tllness / SR

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TATIIAT 919 TH 3R Hag” (3T 999 ¥ US S19¢) & TREIH & HaTHIoS °RoT A
TIE UCH 3 -

1. Primary caregiver / IRV TS
2. Family / URAR
3. Parents / Hrar-fuan

4. Teachers and peers / RI&® 3R et

Correct Answer :-

« Parents / ATdI-fUdr

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / 51§ Ych =l P elqlH

2. Y IS arar-Rer wugma € R g Tad o7 3k SQ 9ae £ e e & R sd
S 5! AT | 98 fod THR ST UTe=-uior g2

1. Behaviourist / Wﬁﬁ
2. Authoritarian / Wl‘cfr
3. Authoritative / 3BT G

4. Permissive / W
Correct Answer :-

« Authoritative / ARG
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10) Children with Autism are: / TTA T (3fifeeH) F Uifsd 9= gid §:

1. Unable to make eye contact with others. / @@f & T 3G T U B H R
2. Unable to move about comfortably. / 3RTH ¥ ‘EEI%[ T s

3. Unable to fall asleep. / Hig o & s

4. Unable to follow instructions. / Rl o1 Ut A H srgHy

Correct Answer :-

« Unable to make eye contact with others. / QFR.[ & 1Y 3G Y TuS H3 H 3rgaef

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / GNP (BT & AT F R, T axgail & IIWR FIb
T U &l 3 1

1. formal operational stage/ 3Myenie Tfhards awi
2. sensorimotor stage / YTRTHATCY TR
3. concrete operational stage / ﬂﬁ HichaTeHD eI

4, preoperational stage / g GfohaTc® Sa=AT

Correct Answer :-

« sensorimotor stage / YARTAICY SfART

12) One way of minimizing the effects of diversity is to allow the children to: / fafaerar & gura ot

U B BT TH aAPT =i S = Bt srgafa ST 8:
1. Win over each other/ W—ﬁ R Sid Eﬁﬁ CREK|
2. Operate in separate groups/ S{cT-3{cT{] W‘E)f T BT B DI

3. Start small communities of their own/3{0 T & BIc gqerf Gal = A DI
4. Socialize with each other/ Udh-g W & Y Ao aaﬁ Gl

Correct Answer :-

+ Socialize with each other/ W—@ & 1Y A g Bt

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/mm%mm%ﬁﬂﬂ%&ﬂ?qﬁ, Udh
FoHT & fore ue fasiy yipfae ufafshar gav e S<ior & i T a=d ufafssar 9+ et
2| FFufafaa & @ o9 91 3erevur 39 Rigia &) dge $rar 82

1. Children responding to the bell at school to indicate recess and associating it to happiness./ [CEIGRE:]

Hl o P T GBI BT Havd THIA g IR 34 TR & I Sed & |
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2. Children maintaining silence when the teacher raises her hand/ Sid 1&g gIU I3 8 A oA ﬂuﬂ
ERIEREAN

3. Children expecting to receive medals by the end of a race/ ??Itf: & 3id TP UG U B I SHIG

G a1 S |

4. Children getting star stickers for the right answers asked in class./ P& | Uﬁ'TIU,' ol IRl & U 'R
REHR Ut & aTed I |

Correct Answer :-

 Children responding to the bell at school to indicate recess and associating it to happiness./ faemaa o

HE I BT T SABTY BT Hebd A § 3R I TN & A1y Sisd 3

14) According to Cognitivism, learning is defined as a change in the learners’

AIMTHDAIG & AR, AW &I Rrgmdffds ﬁw%wﬁuﬁmm
cIGI

1. Behaviour / IdgR

2. Schemata/ Hdsd @TFIET)
3. Mindset / HIFRYepdl

4. Morals / Afd&

Correct Answer :-

« Schemata/ §doq @Tﬂ_ﬂ)

15) According to Bingham, what does an aptitude test disclose? / faa® & SR, GIﬁ-IQ'R'T LRt
GESIRCHC KGNS

1. The tendencies and capacities inherent in the individual's original constitution./ Afdd & Hl ¥dHId T i
&HATY 3R Ugfer
2. The achievement in different dispositions./ TaTH® &W e o Iuates

3. The readiness to acquire proficiency and exercise ability./ TIIOTT 3R 3T 63 B TR

4. The strength of the different dispositions./ ol aiﬂaﬁla’? AT & I

Correct Answer :-

o The readiness to acquire proficiency and exercise ability./ TGIUTAT 3R 31 B P Il

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here? / Toh 9= P HIGRT A SIAT FR@mar 7T A11 319, 98 I+ 10l A STa1 21 g8l dIA
1 AfRRTH Rrgia Wy 82

1. Reinforcement / Q:IET?FI

2. Spontaneous recovery / ¥dd: Wﬂ?ﬁ
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3. Stimulus generalization / WW
4. Stimulus discrimination / S&1Ue fANEIHUT

Correct Answer :-

« Stimulus generalization / S&U® ATHFIIGRU]

17) Carl Jung’s approach for a personality assessment is:/ iR liwpea & f’cﬂaﬂﬁuﬂm

EELaUES

1. Judging / ﬁnﬁlﬁ

2. Perception / F@E:l
3. Structured / AT
4, Projective / PRu

Correct Answer :-

« Projective / gaug

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / sifdw =u ¥ faffya sragr & S=ea el @ eui_ & o
frfafed § O fow 2eg o1 S fear wmar g2

1. Arousal / IS (TRI3TIA)

2. Drives / 314 (ST309)

3. Instincts / W (3‘@3%)
4, Incentives / TGIIHT (E:I@ﬁﬁzl')

Correct Answer :-

« Instincts / AAUIRRII (3ReT)

19) Which of the following is not a part of the process of memory? /Fafafea AT s Wﬁf G|
afehaT T o~ 78 2

1. Storing information / STFTPRT UG PRI
2. Encoding information / SR BT B IHR0T HIAT

3. Acting on information / &I IR BT HRAT

4. Retrieving information / STH®R] UTG AT

Correct Answer :-

« Acting on information / I UX BT BT
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20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / SIT-ITcH® foera &1 o1
SU-GRIT WY il B, 99 Ueh T 30U+ Uiier A widar 3 & g oms-is w
@ g T HHEar §?

1. Coordination of secondary schemes / AT THE TSl & TG
2. Primary circular reactions / PIgiEcy ddlep} gfafehang
3. Secondary circular reactions / FTEITHE EHICIR gfaferang

4, Tertiary circular reactions / Cj_dnlqcb CHICIR PIRIERLY

Correct Answer :-

« Coordination of secondary schemes / AT TSl 1 THaY

21) What age is a child the most impressionable? / T 3T hT J=I1 T STGT GUTIRITS g 82
1. 14 to 18 years/ 14 ¥ 18 T

2.2to8years /29 8aY

3.9to 12 years /9 ¥ 12 a§

4, 6to 14years/6@14a'5f

Correct Answer :-

« 6to 14years/6® 14 Y

22) CCEis undertaken ./ Qﬂ@g - 3MR¥ fpar SIrar %I
1. Four times a year /Waﬁfﬁaﬁaﬂ?

2. Throughout the year / LRI |

3. Periodically / JHI-JHI UR

4. Twice a year /Waﬁﬁfﬁaﬁ

Correct Answer :-

» Throughout the year / ¥ 1R H

23) Questioning in the classroom : / PET T Uy BT
1. Develops inactivity / fAfspadr fam g Hxar % I
2. Clarifies subject matter / fawg a¥d G Y Hdl %l
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3. Creates indiscipline / SR -Icl UG R 5 |
4. Is a waste oftime/WﬁWﬁ%l

Correct Answer :-

o Clarifies subject matter / fowg a¥d G Y Hdl %l

24) Needs which grow stronger when unsatisfied are called: / Gm‘g&.’ THW Holdd HEEIGI
STARIDHATE 1+ Hgardl o:

1. Deficiency needs / HH TR

2. Primary needs / IS T

3. Growth needs / q@ &R

4. Being needs / AT H TR

Correct Answer :-

 Deficiency needs / P SRR

25) Who proposed the theory of observational learning? / ueroftg Sfenma &1 Rigia foam
U&d foar?

1. Ivan Paviov / SdIH ICHIG]
2.BF Skinner/ﬁﬁ.w. PR
3. Aaron Beck / 3R 9%

4. Albert Bandura / ST

Correct Answer :-

« Albert Bandura / SGXI

26) A scoring guide use to evaluate the quality of students is called: | ST DY
T[UTAT BT GiDh B D (AT SIAHTA B AT qTelt TP I M8 1 Hgardl
3

1. Checklist / APbiee

2. Rubrics / Siee

3. Rating scales / YT ¥heq
4, Inventories /sqé‘ﬁ}r

Correct Answer :-
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« Inventories / Eﬁa@ﬂ

27) Both pleasant and unpleasant feelings are associated with A REH

3R 3P g HTa-TY A TSI B B
1. Double approach — avoidance conflict / fg ?W'UT -URER gy
2. Avoidance - avoidance conflict / qﬁ?ﬁ - WW gy

3. Approach — approach conflict / =PI - Ef¥RI0N gy
4. Approach — avoidance conflict / PP - INER gy

Correct Answer :-

. Approach — avoidance conflict / DI - TRER Toy

28) Authentic Assessment is a form of assessment in which: / UTHIOTS 3P Tda
PTTH =7 g o

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / BTl D IRATID gﬁm%ﬁﬁmﬁ%ﬁmw%
N TaRTe F 3R DITel P Frefes Sy &) YafRid Bd 8

2. Students results are compared to hypothetical average student / m%mﬁw
DTS 3T B Y B ollcit &

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ B & yeH 3 gd Rufiva amdst o Hiem & a9t & te Fida I & fauda amar S ®

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction / TRT&e ST o1 SafaTTa Wi, SHSINRGT, T 3R & B HIvd T ugd
RuiRdsare

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / BTl B! IRAfAD W$WﬁW$WWW%,
o 32T F 3R DTSl & Irefes gy ) UaRid Bd 8

29) CANCELLED
Classical gestalt theory was put forth by: / FATISd TReTee Rigid A9 gRT Udd o T e

1. Thorndike / UTSTS®
2. Kohler/?ﬁw
3. Piaget/ﬁm@f
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4. Pavlov / UTddId

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

| Frafafea # ¥ S-91 oR ey & e § 9= &) G adr 3R SRIBadT & HTAdT Hdar

8?2

1. Parental education background / HTAT-UT o Rrefm &t qgﬂi&r

2. Physical strength of child / T BT IRING ﬂ\—rr{cﬁ

3. Teachers contribution in learning process / mmﬁ QTWW tﬁ"'l_cﬂq
4. Social Influence on child's learning / T & SMNTH W JHISD UHG

Correct Answer :-

« Teachers contribution in learning process / AT Ufchar & Ri&rp! &1 aiTe

Topic:- General Sanskrit(L1GS)

1) s
dqoleG alg: h: ?
) fae |
2 dlg |
_ag_ |
are,_ |
4,

2

) faa Nt
JEIETH 3ca¥d Hietlldeaq Hed |
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37T 3T |
 3faT: e |
1m®%mql
, 9w |

Correct Answer :-

Y A, SUEY qUfie] YU qUE foEd |

537 31 3 3 3T 7 37 L 31 |

1

T AT A ATH |

A3 I 3o 333 HA

3.

8T 3T of a7 TH |
4,
Correct Answer :-

S 9 g 3 o 393 L3 H

k cﬂlo@‘rﬁ: ST Hice: &h: ?

qauige: |

1.
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5) . + s\ e
2Ry i &I e orlEd |

HGEQD-EIIQIGJCFIia‘H ié%rﬁ |
1.

TSGR T I |

2

TSI AIRIG e {ehle [T |
3.

TSTUATRIGC AT T I |

4

Correct Answer :-

STl A ITRICTH |

Page- 12



chadod: |

3, C
el |
4,

Correct Answer :-

1 e

_ STINETST: |
3. mﬁ-: |

N hRYY: |

Correct Answer :-

IS |

8)

HOUCTH_ eeGEd 312 a&h: 7

AcHdhcdd |

HAoEAlHcaH |

J&UTdehcas |

. HOdEdcUH |
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Correct Answer :-

HAoEAHaH |

9

) foo
3o e WAUG e ?

4.

PG |
_ 2

1

ST |
. (2.9

2

3, ©9
E?EEEITqTi |
4, e

Page- 14



Y grafdafy sf o dvead |

Usdalderarl

1.

) UsTiaeria |
BCECIEHIHN
. Uaaerta: |

Correct Answer :-

BCECICEIG

® AT AecdrEr H [EiF: oA ?
el

e

4 SRIEIN

Correct Answer :-
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4, i I

Correct Answer :-

Correct Answer :-

15)

fealed 3caey faagarad e ?

11%er31r—c‘f|
2 feer: 3fed |

Page- 16



_fe 3ed |
4‘ié‘ar31r—cT|

Correct Answer :-

16)

dd AT - 31T Al Hed |

SECIEC M
1.

AdoHAH |
2. -

AT |

SGIGIEC

4.

Correct Answer :-

doHHH |

17)

Jood 5catd HidYchlowy fha ?
_ afeesad |

, deadld |

.W |

TG |
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Correct Answer :-

3 ogY UcHAlcHS: ot ?
1 foemT |
, AT |

. dcdl |

qHI& |
4,
Correct Answer :-

G

o 3 e qowy e 7
e |
, (e
e |
| e |

Correct Answer :-
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2

" o7 erdl: FeaT YT & R ?
g |

_ dledT |

ad |

, Jer |

Correct Answer :-

 iedr |

21

) —
qIrEsS: hEgT: Y= ?

JTHISRET |

1

CIREL I
N

2.

JTHCTET |

3.

afasaET |

4,

Correct Answer :-

JTaSeET |
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HEATHIA |
. J -

2

3. ""I

ATCTRTIIH, |

4

Correct Answer :-

HcAHTHILT: |

4

Correct Answer :-

HoUATHTT: |

* v.sg sfa guer eI or@a |

“iBCLID-HIQI%CdiH LAdigedH |

1.

YCUARIGeATHTIGH |

2.
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'bi(::‘—{:rtlIQI(:.'\:}(‘('I'U;-I'V('lCiH(.‘«O'H-I~~ |

3.

M CH :'J-tl%Ifﬁf\jt.‘f,‘i'{{'l'~-’£‘|CﬂI(i':l“l':i-l~~ |

4,

Correct Answer :-

“ﬁ(:.}l:ﬁ-f-lIQI(}'\:}C&‘I'{Q"l'~~'(‘|<:ﬂltf\c*“lc’-l~~ |

R e

) *
erg arFd faedd |
2 )
HTcJedl &7aT |
1.
AGAT 9 |
_ HAGRar #a: |

ATdar #1q |

4

Correct Answer :-

ATJedr |

26)

I-4TAl: SNE-3caAYRY -SgdeA®y foha] ?
J e
3T |
1.

3Ed |
7, 2

, S8 |
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, TIeT |

Correct Answer :-

il

27)

O 5cO%T 9Agug e ?
3T |

1.

3 |

2.
& |
3. o
Hod |
4. 2
Correct Answer :-
& |
. Ne

28)

gedleTash hEdraeT: |
o e |

1.‘0 |

_ ACTAGNISTEY |

3 THUSAET |

AHIAET |

4

Correct Answer :-
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Correct Answer :-

A |
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Topic:- General Hindi(L2GH)

1) Higd 3¢ Wid ue, W™ Ia M|

g Haaf ¥4 |, U WAt gUT 1|

Ped Aed g asra fiaa faa afsrral

Y W9 & Bed & A7 g Il

ITad U= B g 1 U T Y BT 3T Jad153:
U - WUTA BT GATgardt SI9 | 76l 82

1. ==

2. 3R=UIGY

3. g%

4, &R

Correct Answer :-

2) Higd 8iig Wid Ue, T ga M|

g Alaafy A4 W, AU U= gHTd 1|

Hed dcd ded Qe firead e afcrardl

WU A FHd § g ST e Tl

ST U= B Ugd 1 YD T U BT I<R Id154:
TR - 3w BT 31 T §2

1. ]MH

2.X0d

3. §de

4. YU

Correct Answer :-

3) Tgd 3¢ id ue, W™ T M|
g Hiaafy A9 W, AaT W= gUTl |
Hed Ted St g fuad faaa afvmamal
WHTHFa & AT ST ag Il
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JUY I URIIRT DI UGHR -11d U T U BT 3= qa1s:

UL PEd..... A d 7 1 et T 82
1. 3fifIp

2. TR I P Tl

3. i

4. HTATNSID

Correct Answer :-

4) Wiga 3¢ did ue, W e |

Tg Aty 99 W, ST WAt gUTd| |

Fed Aed g faga fiea R afsrara

W Ui H H3d € g S qI Il

ST U= B UgH - IS T U BT I<R Ia154:
T=A- TR U & ATI- AT & a1 HRed 82
1. P>

2. 3G gRI

3. 099

4, GAPR

Correct Answer :-

hod

o S gRI

5) Wigd 3ii¢ did Ue, TmH wa- M|

g Aau= Sd W, Y udt guTd ||

Hgd dcd ded faea fieaa e afcrmaral
WA FRA g g g aa arall

ST TR B UgHR - IS T Uy BT I7R Ta134:

URH- ‘;ﬁgaah%tﬂﬁuf,wwermmﬁﬁmﬁﬁaw,muﬁuml B:Eack:
APRE?

1. 3UHT

2. TUB
3. SU&MT
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4, TAY

Correct Answer :-

6) digd 3¢ Wid ue, W™ IaiH M|

g Ay A W, AT W= THT 1 |

Fed Ted J15id g fuead faaa @l

W U A B3 § g 8 Ig Il

ST TR B UgHR - IS T U BT IR Ta13:
W= - {gra Weg FT f T2

1, DI I

2. BT G

3. 59d TE

4, GQI g

Correct Answer :-

. SR AT

7) ¥iigd 3¢ did ue, W aa- M|

g w3 W, 39 U=t yHTa ||

Pod Ted Hera fasa firea Raea afsramal

WX U & o § A 61 a Tl

Iued TEIRT &) g A1 UD T U HT 3R Iarsd:
TR - =1 & @ B9 2 T aigar 81 82
1. IR

2. U

3. TRrem

4. 3%

Correct Answer :-

. A%

8) digd 3¢ Wid ue, W™ I |
g A ¥ W, ST W= qHTd ||
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Hgd ed Jieid Ragrd fiad Raa afomardl

WU A PG € g 8 I Il

ITa TR B UgH A1 IS T UY HT 3T da13:
W - U e fpa s w2

1. 9

2. Q5T

3. usierdl
4, Hiddl

Correct Answer :-

9) ¥ied 3¢ Uid Ue, W |a - 4|

A Ao ¥4 |, A9 WAt gHTa ||

Pod "ed Hera fagra frea Raea afsramal

W NI HFG & A S qg TGl

ST UEIi= B UgH - YD T U BT IR Ta134:
W= - eior @ 82

1.

2. %

3. qdd

4. 9&

Correct Answer :-

10) Hgd sit¢ Iid e, W™ Jaliq Ta|

g Haut= S |, AT uRat gUTd 1

Pgd ded terd &g e e afsrral

WU AP & g ST I Qi

ST LRI Bl UGHR -1 G5 T U BT S7R qa184:

W - “BEC.......aforara § fagrt 7 it fosanaii o1 auis fHar 32
1. IR

2. 491d
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3. 36

4, i

Correct Answer :-

11) g4 siie Hid e, W™ Iaiq Ta|

g Aadi= A4 |, a9 U=t gHTa ||

Fed ed e e e feaa aforara

WA A HRa g Ag S AT Il

ST Ui &1 UgHT 12 U 1T U BT SWR qaIsd:

TR - 39 318 ? B9 A pw1 & 5w wu o) yefldfa frar g2
1. 7R

2. TTH A B Ta1

3. 9ia”

4, BT

Correct Answer :-

12) Wi 3it¢ Wid e, W Tl dl

g Aaut= S W, a9 u=at gHTd 1|

Fed Ted i g e (e afcamEl

W Y & Hed € g S I Tl

SUYT TR Bl UGHR 12 T T UY BT ST IaT3d:
U - U A f5 31 & o URvT {5 &2

1. Urelr

2. pTal

3. el

4, i

Correct Answer :-

13) Higd siie dia e, wH 9aiq Tal
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g Aaw= A W, 39 uht yHTa | |

Fed ed dera g fiea feea afsrara)

WU A Bed & g e Ig Tl

Iue TR 61 UgH A1 UD T ¥ $T 3R Iarsd:

TR - U & Figd IR TR UG oM Ta1 98 T Uelld 81 38T 82
1. GO GRS oI

2. TTH A BIS Ta!

3. AT URTS R &g Pt foxul

4, T TR Pl gerad

Correct Answer :-
. e UgTS WR Yag P fovul
14) Wigd 3 ¥ia e, | Jea |
g aut™ 9 |, a9 w=dt yuTa ||
Ped Ted Jera fasra fraa fRaea afsramal
WY Hd & g S I Iall
IUT TR $1 UGHR 12 TR T UY BT IR IaqTgd:
T - TS G ATRIGT A b ST G B B Hgal g ol -
1. AT doT W B
2. AT A S B
3. 1141 Jaiiebd Biell 81
4, TR AT HR A B

Correct Answer :-

o RIS B R Gt B

15) Tigd 3iie Wi ue, T Jai= d|

g ™ VW, a9 w4 guTa 1|

Fed Ted sterd fRaga fiad Raaa afcmaral

W U d od § g g A 9l

ST T H1 UgH - IS T U BT IR Ta133:
U - DEQ...... AN’ F DIH-HT T 2

1. dR ™
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2. I
3.3
4, PR IY

Correct Answer :-

16) STsfad SR goR Ura= Ui o g 9 & T TR &1 fores firear 1 39T Sreft A axas Tl
AP 3RT A 3D g & AT A 1 frar 21 98 safe fF oy Richt wR A 7| 39T R T o
HI1 AT g & W A U IR U U0 Hl ToRT| I8+ IH PR §U HBI- 'Y 8l Sl g pav FxH
T Pl B 5T TS ATl 81 P A ST PR GABR oaTd far- 7§ ru-it 7ol | F1 §, 1 qH 3=l
TRiG & S 81| I aTel d9eh! ol TH g g 1

gl I wEt e

@l & gt fF=mmE

el fPa o 8,

F g ggAE1

I8 A 99 T 91d G SR gt 8 ged 9o A @ | HeTHRd | iU @1 St o a@ Y fArumar Je emar
2, 98 Wt vdiwrere ¥u ¥ U 1 € T 99 1Y BISd T o bad a8t S-b THid B Jid B 36T YT

ST TR B TeH A1 TS 7T UY BT IR Ia153:
U - ‘IS’ 1 32

1. TR

2. TIpId DT A

3. UG AH

4, 3RS T

Correct Answer :-

17) arsfad 3R go¥ e Ul ® g W & TP TR o1 fores firean 81 ST SRTel 1T aRER AT
AP 3RT A 3P g & AP | 1S frar 81 98 3 fF oMy Rigelt wR A9 37| 39S $RUI Th ST
FI1 UTI I8 & WA 9 U IR Teb Ul Hl ToRT| T + IH GebRdl U HEl- gL &l o1 Tig oY’ FxH
T Pl B TG T ST ¢ 1 P A SAP gebR B oIaTd far- ' § 3(u=it Wolf A F1 &, 7 g9 3=l
Udc ¥ 9 81 | 991 911 99! ol UH Bl |1

wgt & wel firet

@t & |4t =i
frad fram o 3,
&9 g ygArI|

I8 A 919 A 91 G SR gl B ged a@ d ¥ | HeTHRd W RN &1 S 3id 9% A1y fArurar TR smar
2, 98 Wl wiieere U § U 1 € UT| 99 1Y BISd T a Had 98! S THid B Rid P 38T U
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ST TR B UgH 12 TR 7T U BT IR 9a153:
TR - "ARBR’ Meg BT 31 § —
1. 9T

2. gfery
3.9
4, AT

Correct Answer :-

18) argfad o gar ura Tl § g M & TP TR &1 Foren firaan 81 391 Srelt Ary awd ATl
AP 3R 7 I7HI g F TP | IS fha1 71 98 3Hfere i oy Right W= 4 7| 3991 IR te sl
BT UTI I & WA | U IR U UIael Sl ToRT| I8 7 IY GebRd U HBT- "X &l o1 Tig oY T
T il B TS T AT 81 P A SAP gePR GG oa1d f&ar- 7 & g+t wolf I F1 §, 7 g9 37U
¢ ¥ 9 g1 911 arel 9P al TH B |1

LEEEHIER

@l & gt f=im

foaw fPaT®IF &,

FQ g UgEEI1I

I8 7 919 T 91 Gt SfR gt Y ged a Id 7| HETHRG B gIUfRR &1 St ofd a@ Y fArumar Ae st
g, 98 W uftrTers U § U F1 €1 4TI I 1Y BISd T @ Fad gg] I9P Thid Y 2id B 38T AT

ITY TR B UgH -1 I 7T Y BT IR Ia153:
U= - ‘HE | w} frd &7 3m=ra @ 82
1. TFA &1 AISa] AT 1 STl 6|

2. II-3 I fie war g |
3. A A g e
4, Ot @ s I oA H A A frar ST

Correct Answer :-

. A ST AT ofd W i) & e sran 21

19) Tsfae SR g UraH Ul § g W & TS TR o1 forep frerar 1 39T Srelt A axas ATl
AP 3RT A IH g & aHha A 1 frar g1 98 s fF oy Rigft wR A I | 59BT R T st
H1 AT g & WA A U IR T Ul Sl ToRT| g+ IH PR §U HgI- 'Y 8l o Tig pav §3H
T FI B T4 T AT 31 FA A SHT GopR GIB o1a1d a1 H 9=t 7ol & Fl §, -1 g9 =il
TR ¥ S 81| I aTel 99! ol TH g gl

Hgt & wgl et
@t & gt fA=ma)
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foad fram e g,
FI g U=

I8 A 919 A 919 G SR g B ged a@ J0d ¥ | HeTHRd W RN &1 S sid 9% A1y fAuTar For smar
g, 98 W ufterers U § ue Fa1 €1 4Tl 9 1Y Bisd T o Fad gg) IS9P Thid B i B 9T AT

ST TR B TgH A1 T TT UY BT I 9153
T - "QEd’ A PTAT RTR 2

1. R® @

2. T GG

3. qqfed

4, qul

Correct Answer :-

20) a13fae iR g uraH Tl ® I8 A & TP TR BT forep feran §1 ST SRt Any @k A
AFBT 3R A ISP g b TP | IS [haT 1 98 AT 6 3y Righ WR I 37| TTPT FRUT T S
T Y71 I8 b AHA | U IR & U Sl ORT| 7 7 34U gebRd g€ Pel- 'g¥ 8l o g PV’ Fxd
T Pl B =51 T ST ¢ 1 P A SAP g DB oaTd &ar- 7§ u=it wolf A F1 g, 7 g =it
TG ¥ 9 8| 991 911 99! ol TP B | 1

gt & gt

@ & qUt =

ool fpaT o1 8,

&9 g ugaEI1I

T A 919 T 919 G SR gt 81 Yed a9 I 35| TTHRA § GRIFR o1 5t 3ia % |1y fAurar 9o smar
2, 98 ¥t wiieTdIe U § U 1 &) UT| 99 1Y BISd T a Fad 98! 3% THid B Rid L 38T YT

I T DI UGH -1 T TT UY FT 37X 154
A - 9t ol AT s I e B 2

1. §&ITH

2. TRUR

3. TR

4, SI3fad

Correct Answer :-

21) SIEfAT MR g e J4f § g AT & Th TR 1 v fireran 81 I967 Srelt ArT 9= ATl
AP 3R A 37D I8 b aHd A IS a1 81 98 9w i oy Riceht wR A4 B | 3901 FRU te wroft
T AT 8 & A A TP IR U Uid $l ORI | 5 A SU GPRd §T Hgl- ‘g 81 o 7ig P! $7ATH
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T il B ST TS 1T 81 $ A SAP! gepR YABR waTd faar- A & g+t weolf § F1 §, 7 99 37y
Wi¢ A 9 g | 9911 el 9! al Th g 2l

wgt ¥ wel fira

@ & qt frem
foad fram oM B,
T g ugEE1

I8 7 919 T 91d G ok gt ) ged a I @ | HeTHRd B iU @1 St o a@ ary fArumar aeR emar
g, 98 W ufterars U A ue T €1 4Tl 99 O1Y Bisd T df Had g8] I9P Thid B id B 38T AT

I TR D1 UgHR -9 UD T UY HT 37X Ja154:
U= - GRIR & UHid P DI Td B ST UT?

1. foR®

2. HId1-forr

3. S[HdR

4, 9OR

Correct Answer :-

22) ST iR g UTaH Al § g A9 & U TR &1 o fraan 31 397 Srelt AnT awd) ATl
AP 3R A 3P g F TPd | IS fhar 71 98 9T i oy Right W= A4 1| 3991 IR v st
BT UTI g & WA | U IR Teh Ul Sl ToRT| I8 7 IH GebRd §U HBI- X &l o Tig pav FIH
T Pl DI TG TUST ATl § 1 P o SAD] GoPR GAB oaTd {1 7 | 9=t 7ol & Fl §, 1 gH =il
¢ ¥ S 8 | 911 ITe JaP! ot Th T |

LEEEHIE

Gl & gt A==

oo frammam 8,

F9 g ugAEII

I8 A 919 A 919 G SR g B Yed a@ 3d ¥ | HeTHRd § gRIRR &1 S ofd 9% ary fAuTar e emar
g, 98 W udteTeIe U § U $1 €1 4TI I 1Y Bisd MU @ $ad 98] I9P Thid B id B 387 AT

JYYI TR BT TGHR A1 [H TT T HT IR 134

LES B SR warg fear # ore s @ -

Correct Answer :-
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23) SEfad iR gar uTad J4i § g A9 & Uh TR &1 o firaan 31 3961 Srelt Ar ava) ATl
AP 3RT A 3P Tg & dPHa A 1S frar 81 98 9f fF oy Rigeft wR A9 37| 39T R T ot

AT Y11 I8 & A | TP IR T 919 T oIl I8 3 IU gPRd §U Hal- g 8l ol Tig P’ SATH
B Pl B TS T AT ¢ 1 P A SAP! gebR YA ward faar- ‘qﬁamﬁnsﬁﬁﬁrg,qgnm
g I S Y | g9 1T gaP! ol Th g 8 1

wEt &/ wet et

@ F qHl e
frad fra aim 3,
F g ygErII

I8 A 99 A 91 G SR g B ged a@ 3d ¥ | HeTHRd W RN &1 S sid 9% ary fAurar o amar
g, 98 W uftTers U & U F1 €1 4TI T 1Y BISd MU Fad 981 3P Tebid Y 2id B 38T AT

I TR DI UGH -i1d ID T UY HT 37X 154
W= - Holl Reg T 82

1. dad
2, IaéQiI

3.
4, SRS

Correct Answer :-

24) SEfAT iR gER UTaH J4i § g A9 & UH TR T o fraan §1 3961 Srelt A awd) ATl
AfBT 3R A IHI g b TP | IS fhaT 1 98 AT {5 3y Right WR I 3| TPT FRU T S
BT UTI g & WA A U IR Teb U Hl ToRT| g - IH GebRd U HET- 'L &l o1 Tig paiv FxH
T gl B =5 TH ST §1 $ A SAP gPR GG oaTd - 71§ u+it welf A F1 g, 7 g9 =il
¢ ¥ 9 8 991 e 9P Ol TH B |

wgl ¥ wg foret

@l & gt =

fraw feaT ®19 8,

¥4 g ugAE I

I8 A 919 A 91 G SR g B ged 9@ d ¥ | HeTHRd § gRIRR &1 S sid 9% a1y fruTar or smar
2, 78 M UfbTe TU ¥ U T &1 UT| T 1Y BISA T bad a8] ST TPhid B Wid B a7 AT

ITYE TR B UgHR 19 UD T UY HT SR 154
X —SIsfaa | g 2

1. 4T T

2. QIHISTD T~
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3. SIS T
4. IWRIgd g+t

Correct Answer :-

25) ST MR GO UTaH J4i & g A9 & T TR &1 v firaan 81 397 Srelt A awd ATl
AMBT 3R A I7HI g & Tdd A IS a1 81 98 9o i oy Riceht wR A4 1B 1 3991 FRU te wroft
T YT 5§ b ATHA | U IR T Ul Hl JORT| 7§ 7 IH gepRd §Y Pel- ¥ 8l Off g PV §xad
T gl B 51 T WA 81 o A SAP gepR YABR ward 3t 7 H 3ro=it woff | F §, 71 99 3=t
Ri¢ ¥ Y 8| 9991 ITel Jap Al Th g 2l

s | wdt e

@t & gt A=)

e fram A 8,

A g U

I8 A 99 A 919 G ST g B ged a@ < ¥e | HerHRd § gRIRR &1 WY 8id a% Iq1y fAUTaT o rmar
2, 98 Wl vdieTdre U § T 1 €1 T 99 1Y BISd T d Had agl S+ THid B Rid HR 36T YT

I TR BT USHR 19 UD T UY HT 37 a183:
U - 7§ A T B il GebRT ?
1, TP ST § Fil ! 1 JHSN Al |

2. FiTh HT 35 BIC 3BT AT
3. Hifds Pl a7 AT
4. FiTds S ST AT

Correct Answer :-

. Fifp ST B HIl Bl a1 THAT Sl g |

26) TTSfAd MR gER UTaH A § g A9 & Th TR &1 o firaran 31 391 Sredt ArT awd ATl
AP 3R A 3P g F TPa A IS fHar 71 98 9w i oy Riceh R 9 7| 3991 FRU ve woft
P YT ¢ & U1 9 U IR T UIGe $1 ToRT| T8 I GepRd §Y PI- "gY 8 o1 7ig paiv’ F&H
T il B TS TS o1l 81 P A SAP g R YA wa1d faar- ' # 3rg+it wolf  F1 §, 7 g9 37y
¢ ¥ 9 gl 9911 arell J9P! ol Th B |1

e | wel et

@t & gt fFr=imE |

foa fPaT a9 &,

FI { ygAEII

I8 A 919 T 919 Gt SR gt ) ged a@ I @ | HeTHRd | iU @1 St o a@ Y fArumar aeR smar
g, 98 W uftrTers U § U F1 €1 4TI T 1Y BISd T o Fad 98] ITP Tehid Y id B 8T AT

I TR DI TSR -1d UD 7T UY HT 37X 9153
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U= - TR TR & A1 9§ a9 o1 feam &1 yary far 82
1. SEIATH BI

2. Tsal o TN Bl

3, HHARIAT Bl

4, AR & Uehid ol
Correct Answer :-

. AFdTar Bl

27) SIEfYa 3R g Urad J4f § g AT & Th TR BT v fireran §1 3961 Srelt A1 9= ATl
AP 3R A S I8 & ahd | IS a1 81 98 sfere fF oy Riceht W= A4 B | 3HST FRU T sraft
ST UTI g & WA | U IR T Ul Hl ToRT| T  IH PR §U Hgl- 'Y &l o1 Tig oy §xH
T Pl DI 5T T AT 81 $ A SAP! g R GG oa1d - 7§ 3ru=it woff & F1 §, 7 9 3=l
T¥C ¥ 9 8 | 991 9T 99! ol U §I ' 1

wel & wgt fore

@l & gt fA=mE|

fead fFa B 8,

P g ugEA 1|

I8 A 99 T 919 G SR gt B ged aob A T8 | HeTHRd § iU @1 St ofd a@ |y fArumar AeR e
g, 98 W ufterere U A te 1 €1 4TI 99 91U Bisd MU af $ad 98] I Tehid B i B 38T AT

ST TR B UeHR 19 TD 7T Y BT IR 9a183:
W= - YRR 3iea: frad uRfvr gramar g 2

1. AT H

2. 3T

3. e o

4, gt o

Correct Answer :-

28) STfad SR gER T Ui H g W & TP W F1 fores firadn 31 ST SRTel A1 axas ATl
AP 3RT A I7®I Tg F aPa A IG a1 31 g8 AT fF oy Rigft WR A W1 5901 R v it

ﬁmlﬁ%am%ﬁwmwmﬁmmjﬁaﬁgmﬁ@w Nl e L T o e
T Pl B T TUST AT 81 P A S GebR YIB wd1q fedr- '+ amﬂnﬁﬁﬁgﬁng,ngm'-ﬁ
TG ¥ 9 81| 991 911 99! ol U Bl 8 1°

g 7 wgt e
@t & gt fA=me)
foad feaT a9 &,

Page- 36



F9 g ugaE1

I8 7 919 T 979 G SR gt B ged a9 I 7 | HeTHRG § giUfR &1 St ofd 9@ [y frumar AeR o
2, 98 ¥l vdiieTdre U § U 1 &) UT1 99 TTY SIS T d Had 98! 3% THid B Jid R 38T YT

I TR BT UgHR 1A T T Y BT 37 TA153:
U - 3RT A AP B {69 99 | u1g foma 2

1. 9y

2. el

3, TR

4.8

Correct Answer :-

29) SI3fe 3R R Ura=T Y ® g A & TP PR BT orep freran 81 76T 3RIell A1 9= AT
AP 3R A 37D g & THd A IS fhar 71 98 9o f oy Riceht wR 4 1B 1 3901 oRU te wroft
BT YT 8 b A | U IR & Ul Hl JORT| 7§ 7 IH gebRd §Y Pgl- 'g¥ &l O ig v’ ST
T P B T TUS AT 31 PO A STDHT PR GIh o1a1d f&aT- 1 H g1t 7ol & T §, 1 g9 =il
¥ q §9M g1 | 99 9Tl Ja@! ol U g1 81

g & wEt frd

@l & |t f=mE|

frad a1 8,

F4 g ugar1I

I8 3 99 A 919 gAY SR g B ged a@ 3 ¥e | HeTHRd H gRIRR &1 WY sid 9% A1y fAuTar e st
2, 98 W vdierere U § T S €1 UT1 99 1Y BISd T d Had ag! S+ THid B Jid HR 36T YT

ST TR 61 YePh? A1E I T I BT IR Ia183:
U - $IT BT Igaa gRM?

|

2. 5

3. Pl

4, 5T QIS T

Correct Answer :-

30) STsfa 3R g UraH WUl ® g 19 & TS PaR &1 fores frean g1 39T sRiell Are axas o7l
AP 3RT A I7H g & dPHa A 1S frar 81 98 i fF 3y Right wR A 37 | 3BT R Th WA
AT 411 I8 & 91 ¥ TP IR TS U1 T ol | T8 A I GPRd §U Hel- g 8l ol 7ig oo’ ¥a1d

T il B 51 TS 1T ¢ 1 P A SAP! gebR YA ward f3ar- ‘qﬁarqﬁwﬁﬁwg,qgnm
g I S Y | 99 1T gaP! af Th g 8 1
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g & wgt e

@t & |4t =i
foad feaT B9 8,
F9 { gz

I8 A 919 A 919 G SR g B ged a@ 0d I8 | HeTHRd W RN &1 S sid 9% ary fAuTar Ter smar
g, 98 W uftrTars U & U F1 €1 4TI S 1Y BISd T f Had 98] IS9P Thid B 2id B 38T AT

ST TR B UgHR -1 I TT UY BT I 9153
T - o’ g & 3Ifa o #1 TagUl

1. 3TSTS, AR

2. TI1, fgaamTeTes quie

3. T, =

4, S 3R UIRIH BT A4

Correct Answer :-

. I, fadgTHS quie

Topic:- Science (SCI)

1)

Find x, v and z representing the number of moles of the reactants and products in the skeletal

equation given below: /
A U a0 U J@E THAEHOT SRR R ScaEl & arESTIE g w

yfafEfEeg st arer x. v 3R z 3 a &3
FeaO3 + xCO 2 vFe +zCOn

1l.x=1, y=2 & z=1
2.x=3,y=2 & z=3
3.x=2,y=3,& z=2

4.x=4,y=3 & z=4

Correct Answer :-

2) What happens when a sound wave is propagated through a medium? /
I af a3 U AreAH | YT 8, O 1 gian 82

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
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HILH o DU, T D YR D! A= P dead RIFIARA 81 3

2. The particles of the medium remain in the state of rest./
HIETH & Ul fayTHEaRy ¥ 38 d g

3. The particles of the medium make to and fro motion about their mean position./
HIEH & U1, 37! Hied FRUFY & FHIY 3eRILR- TTfarefied 81l 6

4. The particles of the medium are also propagated. /

ey & o1 WY TR Bl B

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

T & T, 371 7A1ed R & IHiY 3eRIeR- o sid &

3) What are the common fishes selected for pond culture systems? /
area Had= yonfert & forg Tafa o1 1% 9 aofedl -3 82
1. Sharks and rays /QTI& G?R%

2. Sardines and mackerals /ﬂT%ﬁ G?R'aaﬂ?f

3. Mullets, bhetki and pearl spots/"v:q\@l_(.’ﬁ, Vbt G—?Rtlﬁw\l%

4, Catlas, rohu, mrigals, common carps and grass carps / cddl, ﬂTg’, HiTd, dIHIY CA] GﬁT VIS

H1Y

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / dcdl, i’]’g’, HTd, T BT Gﬂ'\’ PIES|

4) The phenomenon responsible for the twinkling of star is: /

aRI @1 feafeurge & forg Swer! ge &:
1. Dispersion and reflection / YR S'ﬁ?' SNGRE
2. Reflection / TRTAT

3. Atmospheric refraction /a'l?g'l:i?{(_'ﬁff SIPGRE

4. Dispersion / TR

Correct Answer :-

 Atmospheric refraction / qlgt—isd‘lq KIBGLE
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5) Which one of the following diseases is almost eradicated from our country? /

frafifaa # 4 fea R o AR 32 Q W1 T $ foar marg?
1. Dengue / ST

2. Malaria / HQTAT

3. Encephalitis / ARSH QMY

4. Poliomyelitis / JIferdl

Correct Answer :-

. Poliomyelitis/tm%ltﬁ

6) The hotness of an object can be measured by its ./
et avg @1 THige @ 3u® GRT AT ST AHaT 8
1. volume / 31IAdH

2. Temperature / dIUHIT

3. Size / 3[[HR

4, Density / Y-cd

Correct Answer :-

« Temperature / dIJH

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

T UgaH & Qier B T Th gSol ¢ | GTa i @il FT 82
1.0.5s

2.25s

3.1s

4,0.1s

Correct Answer :-

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /
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10 fHIT 09 &1 T FH/, 10 Hiey/Ads & T 9 AT 5 Y s & (¢ TP afas
Tdg P JHIAR =i g1 39 e g1 Iaifed @Rl 8:

1. 0.5 m/s?
2.2 m/s?
3. 0 m/s?
4. 50 m/s?

Correct Answer :-

9) Complete the statement with the correct option given below:

Matter is anything that ./
=T few ¢ faweul ¥ & A5l fawey ges oY & guf &3
werd ag g &t
1. occupies space and has a definite mass. /

R BRaT € 3R FRyepT Ueb 3 sorm gl |

2. occupies space but has no definite mass. /
I ORl § AP 3UPT Bis iR S0 7ol gidl o

3. exists as a solid with a definite mass. /

T YT ST & Y T 319 & =0 § HiSlg g1l g

4, has a definite mass and a definite shape. /
T Mid goadH Td Ue Mfd STeR ST18Ia g

Correct Answer :-

« occupies space and has a definite mass. /

YT IR § 3R orgee1 U [RfEd o glar g

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /

cuso, & T faeras, Forad are YR 31 & 319 STHT §3iT 8 S ge ayT faeas &t -ia
M TR §9H & 7T v g1+ arelt SUga YT &1 99 B |

1, Silver. / Hm
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2. Gold. / T

3. Mercury. / URT

4. Zinc. / Sl

Correct Answer :-

e Zinc. /Sl

11) Sharp edged metal pin will go easily into the wooden board because: /

A YR qTelt T Bt U ST & AP St B IS | g S Faifp:

1. As area of contact reduces force increases / F0® &F HH AEEER] dedl %I

2. As area of contact reduces force decreases / W 833[ Dy Eﬁe[ I 9 HH Eﬁ?ﬂ %’I

3. As the area of contact reduces the pressure reduces / F &3 HH Bﬁ REACKZE Eﬁ?ﬂ %’I

4. As the area of contact reduces the pressure increases / TUh &5 HH g I g dedl %I

Correct Answer :-

« As the area of contact reduces the pressure increases / TUd &7 HH g4 ¥ a1F d¢dl ol

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given
that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

I JUR & A1 TP Bp I TP dR & A b1 AT & g ST & arid 1 IR
FrafafEa Sféw 3 81 R e & = o find) iz 35 arue Hf$w = 52 @1 foa
w%ﬁ%ﬂ@mm1ﬁ1ﬁ,%€m% 100 TSl & IFY ¢ | ST AT 4 IR
ST I 8:

1. 0.0052 cm / 0.0052 THt
2.0.052 cm / 0.052 TH
3.0.26 cm / 0.26 991

4.0.52 cm/ 0.52 9t

Correct Answer :-

. 0.052 cm /0.052 IH

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /
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99 U% did BT UTH dd JHI dF 3T GTaraeol § gl 8, a1 39 UR TP 8¢ 3 & U o
STl €1 T8 g1 ety f=1 Il o1 v fayur &:

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO; / Cu(OH), Td CuCO4
3. Cu(OH), and Cu,O / Cu(OH), Td Cu,0

4. CuO and CuCO5 / CuO Td CuCOs

Correct Answer :-

« Cu(OH), and CuCO5 / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /
DIATSS & Sfd urerH &1 Ta B |

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PSS b Bl dd db e oHd 8, Sid deb fob I Tid =gl ©is fear wrar g, g
FaRsd faead HIb! RR 814 B

2. Colloidal particles are not visible to the naked eye. /

B S HU A & b G 781 ¢ ¢

3. The size of colloidal particles lies in the range 1077 =10 cm /
HIAZSH HUN BT SATHR 107 ~107 I, BT AHH G 5
4, A colloidal solution is homogeneous in nature /

TF HIAZSd [dad- UdHid # Teldid Il |

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TH DHIaRsd [Aaa UHid & Joldid giar |

15) Identify an isotope used as a tracer to detect the blood clot in human body /

A9 IR # 39 & Yb BT Ul A & T T 38R & =0 § Ugad 811 a1al U
AP & U B |

1. Uranium — 235 / Z-4H — 235
2. Todine -131 / 3MTSH — 131
3. Sodium — 24 / TIfSTH - 24
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4. Cobalt — 60 / PIEIC — 60

Correct Answer :-

« Sodium — 24 / QfSTH — 24

16) The product formed when iron reacts with steam is /
@i SR ared rfHferar & 99 a1 STE &:

1. FeO

2. FeH

3. Fe203

4. Fe304

Correct Answer :-

. Fe304

17) The role of decomposers in the ecosystem is /
TiRfRUfa® &3 W sfuaed! o1 YfAHT gidt &
1. They do not act on organic compounds. / J FE® AMH] TR av_ﬂlf:l_ﬁpfa’z—{ﬁl

2. To convert inorganic materials into simple forms. / SPIEHS Uardl &l TR U # gRkafdd
PR

3. To convert organic materials into inorganic forms. / FIeE Uerdf ol b &ul #
gRafdd &

4. To convert inorganic materials into organic compounds. / 3pTefp TeTdf Bl BreHe A
aRafda &

Correct Answer :-

« To convert organic materials into inorganic forms. / FIed Uerdf ol T~ wul #
gRafedd B

18) The lightning arrester helps: /
afsa@gefam) Auw 9 | Heg Feare:
1. To store the electric charges at the time of lightning /

dfed & 99 [dggd 3=l & TIgId & Hl

2. Dissipate the electric charges in to the atmosphere /
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fdggd ol &l agHed | Blgd H1

3. Avoid the production charges on the clouds /
qTeell § SR & SATGA Y Fa H |

4, To transfer the electric charges to the ground /

faqga sma=nl & YfH & RFaRd & 71

Correct Answer :-
« To transfer the electric charges to the ground /
faggad simawl & Y & RFiaRd w3 1

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 fa=11 & wep wd ® ufar 3 10 92 & 1w 5 a1e & o9 oal & W& & fHaiare gef &
ot fagga oot &t wua gidl 872

1. 15 kWh

2. 150 kwh

3. 15000 kWh
4, 1500 kWh

Correct Answer :-

+ 15kWh

20) Calculate the formula unit mass of MgSO4.7H,0
[Atomic masses: Mg =24 u,S=32u,0O=16u, H=11u]/
MgS0,.7H,0 & A SHTE GTHT BT UM
[URHIV] <THTT: Mg =24u,S=32u,0=16u, H=1 u]
1.286u

2.232u

3.246u

4.198 u

Correct Answer :-

e 2461
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21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

dg® | et gF M R TP Fuia awel & 918 1R et 3 <1t 81 el o1 i
Sl g&I1 U § 399 uf¥afdd gl wrdt 8:

1. Only Heat energy / HIA ST Sl
2. Kinetic energy for the wooden board /W%ﬁ%ﬁﬂ TSt Soll

3. Only Sound energy / Had @ Foll

4. Sound and heat energy both / {9 3R ST Sl a1

Correct Answer :-

« Sound and heat energy both / €34 3R ST Soit gl

22) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car,
which is parked on an open ground is: /

TS YU aret e ¥, 5ie argris ey aru 37° Sf Qs a1 8, 9t e $R & SigR &1
ATIHT, S g Ao d @sS! 8, e g

1. Greater than or equal to 37°C /37°C o SRTER 1 31UFH
2. Equal t037°C / 379C & SRT&R

3. Always greater than 370C /370C & 3ff¥®

4. Less than 370C / 379C @ &H

Correct Answer :-

« Always greater than 37°C / 37°C ¥ 3w

23) In a filament bulb the electrical energy is converted into: /
% (e 99 (dg 909) ¥ fagga oot & 59w ufvafda frar smar g:

1. Chemical energy / NRIRIEERC

2. Only heat energy / BT ST SHoll

3. Only light energy / Had TBTRI Holl

4, Light and heat energy both / YhIR[ 3R ST S gl

Correct Answer :-

(I'\\~

. Light and heat energy both / UhTRI 3R SSHT STl GIH]
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24) What is the valency of Carbon in Methane? /
WA § BT F TASTwar fpa-t g2

1. ValencyofC=2/CﬁmW=2

2. Valency of C =1 / C I AgrSThdl = 1

8. ValencyofC=4/C$°f'\‘:i'ChW=4

4, Valency of C=3 / C P! HgISIehdl = 3

Correct Answer :-

. ValencyofC=4/Caﬁﬂ'ThW=4

25) Which among the following is a mixed anhydride? /

Frafafea # S 7a1 te i3 Tiesess 82
1.CO,

2. N,05

3.80,

4.NO,

Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /
FrafafEa % &« sM HsRr & forg forizor Sura 78 72

1. Chemical method / I fafdr

2. Fumigation / ?fﬁ

3. Plant products like mineral oils / WSt 9 oI Uiey 3dla

4. Cultural method / WW fafer

Correct Answer :-

« Cultural method / W% fafdr

27) Which of the following is a biotic component? /
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fFaffed A 9 Fi9-91 ve Sifde s &2

1. Air /dIig
2. Water / oic]

3. Soil / &gl
4, Living things / Siifdd a%q4

Correct Answer :-

« Living things / STifdd a%qQ

28) Which of the following is a chemical effect of electric current: /
= o 3 T fagga vaTe &1 IS guTE B

1. Producing a magnet using electric current /

fdggd UdTg &1 YA B Uh Y S Bl

2. Producing heat in an electric kettle /

T Salfacd dbadl H ST Sad Bl
3. Producing light using electric bulb /
faSTelt & dedl T YN B UhTR Idd DAl

4. Production of Hy and Oy by passing current through water /

I ¥ YRT TaTRd HP Hy 3R 05 BT I BT

Correct Answer :-

« Production of Hy and Oy by passing current through water /

g q YRT YaTied BB Hy 3R O, BT IaTe HRAT

29) Name the property of the components used for separating salt and camphor. /

TP 3R HYR P 3T B & ¢ TN {58 91 a6t Ted! & quied gargd |
1. Using separating funnel /QWWWW
2. Magnetic separation /WU PLEERUI

3. Sedimentation / {ddlGd
4, Sublimation /Eﬁqmq

Correct Answer :-

« Sublimation /G;"?ﬁqlﬁtf
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30) Discoveries, inventions, laws, theories are all related to the .

¥, STfase R, fraw, Riegia T I e g1
1. ease in daily living ) &F1ep S & Smart
2. study of science / ICRIECaRELE]

3. luxuries of life / SITaT o G
4. satisfying human curiosity / ATTAIT ORI &I TGP BT

Correct Answer :-

« study of science / a3 &1 31qgq

31) Not only formative but also summative assessment can be conducted
through: /

4 »ad Aainas, afew aimae sieaq i 9 & areay @ Iarferd
foar ST gean g:

1. Homework / W

2. Question and answer sessions / ¥ 3R IR T
3. Projects / gRareTefl
4. Self-evaluation of teachers / RI&f®] BT E-W

Correct Answer :-

. Projects / giRarSIHISI

32) The drawback of Case Study method is that it does not lead to a: / &-

welfarerQugfrag_____ Ue ol i gl
1. Generalization / HTHIIHRUT

2. Conclusion / FTendf

3. Categorization / GG 0T

4, Assimilation / THITID U]

Correct Answer :-

« Generalization / ITHRNHR]
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33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? /m A QB9 A "ad Td D W (?ﬂ?ﬂ'&g)
ot faiwar =11 82

1. It helps the teacher to learn about the existing concepts of students. / g EIEICE

HISlaT STYROMST & IR H S § 16 & Jeradl Hdl 8|

2. It involves more frequent tests and examinations. / gﬂﬁ GRIGIE q?of&‘l'UT \ﬁ?
ORI GiRferd g &1

3. It involves repeated assessment of the same parameter. /Eﬂﬁ ISP gl HFGUE &l

IR-IR b JrRIferd gl 8|
4.1t is a school-based evaluation. / g Uh faererg-smeard W %I

Correct Answer :-

« It involves more frequent tests and examinations. / sﬂﬁ TR tIﬁ&l’UT GﬁT
ey gimferd gl g |

34) Which of the following is not a scientific question? / FFrafefET A BT

U AqT—® Uy 81 82

1. What is the density of water? / U &1 9cd fooeT %?

2. Why can we not see in the dark? / gH 3N T '160I' 2‘&9 g %?
3. What is meant by a secular republic? / ﬂﬁﬁ?ﬁ&[ oI &1 R 3 %?
4. Why is the colour of sky blue? / 3BT BT T T T g2

Correct Answer :-

« What is meant by a secular republic? / ﬂﬁﬁ?ﬁ&‘f UG 1 1 31'2-? %?

35) A formal event where multiple experts deliver their speeches is known

as ./ TF ST U1 9Ie] $8 faRIug 30 WY &a €,
U H S+ Sl 2 |

1. Laboratory / ONTRITC
2. Symposium / ﬂTﬁg)[
3. Exposition / qaH]
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4. Workshop /W

Correct Answer :-

« Symposium /ﬂ'ﬁ@

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? / 39 3UUg HI ATH

71 8, O uRa A efifas-aneia fRien &) serm & forw faRiv = u ¥ yAfae e
H 3T T UT?

1. ERS2
2. EDUSAT
3. TechEdSat

4. ATS-6

Correct Answer :-

- EDUSAT

37) What is meant by intervarietal hybridisation? /

SieRfafay Homwor o1 . o g 72

1. Crossing between different varieties of plants. /
e & fafts TR & ofT Tobvar (i)

2. Crossing between different genera. /
2 Tolfa & o dh=ar (i)

3. Crossing between genetically dissimilar plants. /
ARG TU T st drel & offa YhvT (BT

4. Crossing between two different species of the same genus. /

TS &1 39 & &l F7 vyl & sfa T (BIRI)

Correct Answer :-

« Crossing between different varieties of plants. /

el & fafvs UpR & oi" Jovar (i)

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following
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is NOT applicable?/ﬂmﬁ'mqwﬁsﬂqm&ﬂmmﬁ%mw
HFD] DI TGSl gial &1 HaT H a5 Riared! g1 fagm= & Riaror &1
e H3- & forg, Fafefaa & @ 19 a1 suge 781 82

1. Parents’ view of the teacher. /QTW% W—ﬁﬂ'{ﬁml

2. Performance report of the students in the subject. /fowa d 3= &t HC'(-‘Q(I"-I

ROic |
3. Students’ feedback on the teacher. /ﬁrwmmﬁqﬁﬁml

4. Other school’s opinion of the science teacher. / 3= faeneal &t fogm Riere &
IRH M|

Correct Answer :-

« Other school’s opinion of the science teacher. / 3= fagraral & fom e &
CIREERE]

39) The factor that does not influence the formation of winds is: /
g ftor B gHifaa 57 = a1en FR® = 7:

1. Presence of mountain ranges / gdd %F‘IT ARSI

2. Presence of seas and oceans / "VTﬂﬁ 3R HETIRI &t IufRUfd

3. Uneven heating of the atmosphere in different regions of the earth / E[Uﬂ & faftr &l o
dIdTaRUT b SHHT did-

4. Rotation of the earth / qzaﬁm ‘ZI;U&[

Correct Answer :-

« Presence of seas and oceans / qﬂjf 3R TRl &1 SufUfa

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied
is /

<19 fopelt faRlv Fag W 1000 <e FT 9 YART §iaT @ 9l I T8 R T 16T ga1d 10 Pa TR
T 8, A 96 VAT g &7 A% d fha-r &

1. 0.001 m?
2. 1000 m?
3. 100 m?

4. 10 m?
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Correct Answer :-

« 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

TR axg3i P, Q, R ¥d S @1 7fd HH=: 10 H/F, 36 fHel e, 18f%Hl/Her ok 30di/2 1 fra @
aegall @ ifar T /2

1.RandS/RTIS
2.PandR/PTIR
3.Pand Q/PTEQ
4.QandS/QUdS

Correct Answer :-

« PandQ/PUIQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

e Ugad @ 919 fpa-l IR 20 el & Arey fRURY &) UR @t 82
1. 10
2.20
3. 40

4. 60

Correct Answer :-

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g = 10m/s?)/

% Tig 100 W} F Sarg A FRIE 7l 81 e 3t Yy 9 ugan | fawn Iwa @i (g = 10m/s2)
1_2V%s

5425

3. 20s

4, 25s

Page- 53



Correct Answer :-

2455

44) Amount of energy transferred from one trophic level to the next is /
TP NP TR T 3T NP TR A ARG Sl PITAGT gt g

1. 5%

2. 20%

3. 15%

4. 10%

Correct Answer :-

e 10%

45) The acid present in Rancid butter /
Ry Tt T Ui o BT 3

1. Butyric acid / a{%% S|

2. Acetic acid /URIfCH 3%

3. Lactic acid / Qifded 3w

4. Formic acid / I 3

Correct Answer :-

« Butyric acid / &‘1%% STkl

46) In an electric motor, the energy transformation is from: /

TS faggd Hlex #, SHolf uRacd HHT gl &:

1. Magnetic energy into electrical energy / ﬂﬂﬂﬂq Sl Bl ﬁ?ﬁﬂ ol &
2. Mechanical energy into electrical energy / Tifie Sl BT ﬁlﬂgﬁ SOl |
3. Electrical energy into magnetic energy / fagdd 3ol &1 9a® T ol &

4. Electrical energy into mechanical energy / ﬁ’c{{iﬂ Sl & TifFe Sl &

Correct Answer :-

« Electrical energy into mechanical energy / faegad el &1 @ifie Sl o
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47) CANCELLED

Thick layer of fat called blubber is found in: /
SR AATHS T S At IRd §I8 Ul ST §:
1. Whale / 9

2. Polar bear / ‘L‘ﬁm I,

3. Camel /WR

4, Shark / ST

Correct Answer :-

« Whale/

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /

3T UHTSP i Bid § SR 4 Y} Bt T Hed 3|

1. They transfer energy to the next trophic level in the food chain. /

3 T A H AT NVHAT TR R FHoll MR Hd g |
2. They are also called as saprophytes or reducers /

3 gooial a1 TYHRS W T Sar g

3. Decomposers are also scavengers and they clean the earth. /
3T uHTeie i Bid § SR 3 g &l U1 & g
4. They help in recycling nutrients. /

d UINe GARAH U H Heg $HRd g |

Correct Answer :-

« They transfer energy to the next trophic level in the food chain. /
J T YA H SFTe NPT TR IR Sroll RIMIART HRd 6 |

49) Which of the following is not a child-centred classroom? / Fafataa k) ﬁ?—@

TA-hi-sd D& Tl 872

1. Teachers promote collaboration in learning / fRreres MfOTH o TgaiT &l deldl
gl

2. The teacher is a facilitator instead of an instructor / TR1&® Uh Ui & o
U TH-a9F ¢ |
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3. The teacher decides content, instruction method and assessments / fRrerep ﬂlﬂ"/ﬁ,

e fafdy 3R e o1 fFfg HRar |

4. The students have a choice to pick assignments and decide assessment criteria /
ST & UM 3RZHCE g 3R Jedidhd AMGS ad o3 &1 f[ddhed g |

Correct Answer :-

« The teacher decides content, instruction method and assessments / fRrerw HITI‘;?[,

e RfY 3R siepa o1 vl HRaT B

50) Which of the following wastes is not bio degradable? /
i & @ wiH-a1 sufne S9 o a1 A srawfa g 22
1. Vegetable peel / fesral & fad

2. Milk sachets / g4 & Udbe

3. Cow dung / T &7 TR

4. News paper / 3&dR

Correct Answer :-

« Milk sachets / G4 & e

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / Fff@a & O I 91 AT ?@W, Gﬁ'\ﬂaﬁm
TS0 BT Sgeas AT STl 82

1. Experiential learning / $fHdTHD SHTETH

2. Collaborative learning approach / RIS AT PRI
3. Analogy strategy / HI€XY RUEI|

4. Concept mapping / R 9=

Correct Answer :-

« Concept mapping / RIGI=d A=

52) Which of the following can help the students to learn science through kinesthetic

movements?/mﬁﬁﬁqWﬁmmﬁ%mmﬁmﬁw
o Heg HR Pl 8?

1. Written test / TeTRad URi&d
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2. Debate / dTe-fddig
3. Drama / dIch

4. Quiz / THIRY

Correct Answer :-

« Drama/-Ich

53) If an objectis kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe; felt axg ) 4Re1 Wiy 3R 3aad gUuT & dIehdT & Hg | IWT 91T 8, al Bid BT Wi gl
1. Real, enlarged and inverted / AR, SHYafid Td Iec

2. virtual, diminished and erect / 3{THTE, Tepfeld Td el

3. Real, diminished and inverted / IRddd, HPpfad Td Ject

4, Real, diminished and erect/ drdfdes, Ygpfad Td it

Correct Answer :-

 Real, enlarged and inverted /W, MQE 3l

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

faftre emg vt & @ &Y SrerT-SrerT wE # g 3t snaxawar gidl 71 Frafafaa 7 9 5 e #
g 3P T il 82

1. Child / d=d[
2. Infant / IQIQ

3. Man /Y=Y
4. Woman/ﬂ'%?ﬂ

Correct Answer :-

+ Infant /ﬁ'l'%l

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on
that surface is: /

2.5 m2 & T Tdg W A=IG: 100 N T g6 T 7T 8 | T8 W O 9Tl 3919 8¢

1. 400 N/m?2
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2. 40 N/m?

3.4 N/m?
4. 250 N/m?

Correct Answer :-

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: /wmwamﬁma‘rﬁvﬁaﬁamuﬁwmﬁaﬁ
DI B G135, S S UITgd ST AT fob:

1. Investigate ideas / EEREISIEER

2. Development of models of inquiry / ST & gfaH= (HTS o) B [aHRIT PR |

3. Observe phenomenon keenly / YCH] Co| S hdl o |
4. Frame questions / I YUY IR B |

Correct Answer :-

« Observe phenomenon keenly / 9l DI S d] ¢

57) Which of the following would not promote active discussion? / Fafafaa #

A oI Gfhy T4t PI T¢rar 781 e
1. Selecting topics from upcoming tests. / R URI&N ¥ faw} &1 g8 =T

2. Summarizing ideas with the help of learners at the end of a discussion. / ?ﬁﬁ %
3id o Rigmiat ot Terar ¥ [daRi & IRIfRd @1l

3. Acknowledging learners for responses. / gfafear & fau Rrenfdal o1 Wer
DT

4. Encouraging questions as well as responses to each other’s questions. / qardll &l

MTTed BT Td 1Y B Th-ge o U4l BT Sa1d T
Correct Answer :-

. Selecting topics from upcoming tests. / SITTHT TRIEfON O fawa} &1 99+ B0

58) Which of the following statements is false with respect to scientific theories? /

ayTe Rigidl & day & fRgfefad § S &9 91 39 Tad 82
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1. A theory must be tested with rigour. / Tdh Rigid &1 codl & Iy TRieur fobar S

Bl

2. Theories must follow observations. / @l@l(‘ll Cal ﬁf&l’Uﬁ CARINEK RG] dll%'HI

3. Theories may be expressed as an equation. / l%l@l(‘ll DI Uch TR0 & =T H
R b1 oI Fodl g |

4. Predictions of theories must be reproducible. / @I@I?ﬂ &I Uio=aIorT srawg
¥ W JREdIGA™ gt gyl

Correct Answer :-

« Theories must follow observations. / I%I@I(‘Il ﬁﬁf&wﬁm UTet hR ] tlli%‘QI

59) A scientific theory cannot be expected to: / Th aﬂTﬁfﬁﬁI@ﬁ T rveT 8l
P T Fbal b -

1. Predict all outcomes / G TRUTA] &1 LCLOITjHI"I |
2. Resist falsification / AT IDH U] P IEREERY

3. Receive questioning / g3l &l U B
4. Change with time / JHJ & 1Y 9|

Correct Answer :-

. Predict all outcomes / IHT GRUMAT &1 ld\dT'iJ-II"l A |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

P | ITafe Idve! & rfa wahT | g} sriia gicht & Ut Y SrguTss 8 et 8
39 TUTd Bl SRR H31 & fore amraa: fog uegrd &1 frd) o framan sirar 82

1. NaOH

2. Mg(OH)2
3. Na2C03
4. CaO

Correct Answer :-

o CaO
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